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\documentclass[12pt]{article}
\def\pgfsysdriver{pgfsys-dvipdfmx.def}
\usepackage{gnuplot-lua-tikz}
\begin{document}

\input{gfigure.tex}

\end{document}
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\documentclass[12pt]{article}
\def\pgfsysdriver{pgfsys-dvips.def}
\usepackage{gnuplot-lua-tikz}
\begin{document}
\input{gfigure.tex}

\end{document}
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\documentclass[12pt]{article}
\def\pgfsysdriver{pgfsys-pdftex.def}
\usepackage{gnuplot-lua-tikz}
\begin{document}

\input{gfigure.tex}

\end{document}
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\documentclass[12pt]{article}
\def\pgfsysdriver{pgfsys-xetex.def}
\usepackage{gnuplot-lua-tikz}
\begin{document}
\input{gfigure.tex}

\end{document}

ERDET,

RIZ ConTeXt IZDWTHMHL £, £ TRHIC gfigure.tex IZB T
\begin{tikzpicture} [gnuplot]
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\starttikzpicture [gnuplot]
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\usemodule [gnuplot-lua-tikz]
\starttext

\input cfigure.tex
\stoptext
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\def\pgfsysdriver{pgfsys-dvipdfmx.def}
\usemodule [gnuplot-lua-tikz]
\starttext

\input cfigure.tex

\stoptext
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plot sin(x)
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